Efficiency vs P,

+0.05, " T
. : : :
D045 - -e et R RS RRECEREEEEE
> : : :

2004 -t L REEE R R RS RRECEEEEEEE
Q : : :
@.035—-------- SRR R TR e ARRECEREEEEE
© : : :

0.03]
0.025

0.02
0.015

0.01

0.005

1.0

Ratio

-1 2 3
T
mm&msswmm:m—

20 0ok onn. é
L R FRSTI SRS S
< E : :
O.08F bbb
=] o : :
0,07 eebeee v bbb
o E : :
071752 % R SPRNE SORN SR NN 1 S
0.0 f-+-bfove b b
0.0afHH- 15[ P
0.03fHfHf -+t R N1 l .......
0.025[-fH IR NI [11 e | |
0.01(} {-1ff L ﬁ il % _______
.QL\'CT""!"""".""!""I""
I : E :
24 L i ]
1t LS : H-HRE
2 10 1 2 3

Efficiency vs ¢

£0.05¢ ;
@ : : : : : : :
R Y I A |
8 . . . . . .
90.04 """"""""" Pl “_E
§.035Fk {4k Y STRIRN FRLRRN :
0.03E{ ] {F--- e PO R RPN RO i
0.025 : ;
0.02F
0.015f Hot-
0.0% 1
0.005k: TES
~F i . i |
o +of :
IS il :
o H: :
0831 0 1 2 3

TP @



	Contents
	Page 1


